BIOLOGY ;
hich lies at the uppe
In the female reproductive systeny, a tny linger like structure ¥

unetion-of the two labin minora above the urethral opening is calle (1)) Mons pubis 5/
@ Clitaris (B) Hymen (C) Vagina o :

L 1"

Consider the following statemients witly reference to female T¢Pl'“d“¢ﬁm? S ivoini
Statement 1. The presence or absonce of hymen is not 4 relinble indicator e
sexual experience,

Statement 2. The sex of the foetus is determined by the father and not by the mother.
Choose the correet option from the following :

(A) Statement 1 is wrong and Statement 2 is correct. o |
(B) Statement 1 {s correct and Statement 2 {5 wrong.
(C) Both the Statement | and Statement 2 are wrong, g
(Y Both the Statement | and Staterment 2 are correct.

3 The male sex accessory duets include,

(A) Rete testis, vasa efferentin, seminal vesicle and vas deferens !

g)e:e testis, vasa efferentia, epididymis and seminal vesicle s
Rete testis, vasa efferentia, epididymis and vas deferens
(D) Rete testis, urethra, epididymis and vas deferens ~

4.
yl-/wlth reference to human sperm, match the List-I with List-I1. .
List-1 List-I1

1.  Head p.  Filled with enzyme

. Acrosome 4.  Contains mitochondria
‘Middle piece r.  Sperm motility
Tail $.  Contains haploid nueleus
8¢ the correct option from the following :

Sl

podals % Antipodals and synergidsd |
il g Synergids and egg cells’
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X ) Which of the following 1'5 abbreviated as ZIF 1o Intra Fallopian Trensfer 6.
(A) Zygote Intra Fallopian Tube Zygo
. Inter Fallopian Transfer
“ (C) Zygote Inter Fallopian Tube (D) Zygote _
" :
] .
i An example for hormone releasing IUD is : o 5B T
: } Multiload 375 -
| /@/(AJ e e Gt (D) Multiload 375/
- i
: MTPs are considered relatively safe during -
(A) 180 days of pregnancy (B) Second trimester
() First trimester (D) 24 weeks of pregnancy 9,
/%Eh of the following statements is correct 7
(A) Sickle cell anaemia is a quantitative problem, DZ_
(B) Thalassemia is a qualitative problem.
(C) Female carrier for haemophilia may transmit the disease ta sons. A
/Mhange in whole set of chromosomes is called aneuploidy. 1
)D/Gﬁlﬂ -mapping’ technology was developed by :
(A) Sturtvent (B) Tschermak /(E( Mendel (D) Correns 1
_'_Fmd the correct statement. ‘
Ily a gene regulates a trait, but sometimes one gene has effect on multiple traits.
bloed group of man is regulated by one dominant allcle and another

(D) Statement (2) is correct.

table, select the option that correctly characterizes various phases of

se Follicular phase Luteal phase
L.H. Surge Regeneration of
_ andgmatnum

?@}gﬁﬂ&iﬁn*ﬁﬁeorpﬂs luteum ﬂvulamm .
. llt g . vE =
Follicle maturatia
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i : t and a homg
\ '3—\ In one of the hybridisation experiments, a hcﬁmazyiom.dummlnt.plm _

recessive parent are crossed for a trait. (Plant Shows Mendﬂllfﬂ_: e o P_
(A) Dominant parent trait appears in F, generation and recessive parent trait appears { ¢
and F, generations, : .
(B) Dominant parent trait appears in F, generation and recessive parent trait appears in g
generation. .
(€) Dominant parent trait appears in F, generation and recessive parent trait appears only i
F, generation. nl
(D) Dominant parent trait appears in both F, & F, generations, recessive parent trait apy
in only F, generation,
- 14. Histone proteins are positively charged because they are rich in basic amino acid residues
. i (A) Arginine and Phenylalanine (B) Arginine and Alanine
~ (C) Arginine and Proline __(DyArginine and Lysine

ST HLTTTITIITINY SRR SAT I B

I

EM; yotic genes are monocistronic but they are split genes because
(A) Exons are interrupted by Introns. (B) they contain Exons only.
(C) Introns are interrupted with Mutons. (D) they contain Introns only.

ron model was elucidated by
ey and Chase (R Watson and Crick
ob and Crick ¢ /@))»ancois Jacob and Jaques Monad

(B) Darwin’'s finches
(D) Australian marsupials

h;_‘lfg]:awﬂ;g Hardy-Weinberg equilibrium, the frequency of
3’ What is the frequency of heterozygous individuals © =
3 (C) 0.36 (D) 0.48

X determination
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Mnﬁfy the symptoms of pneumonia.
— (A) Constipation, Abdominal pain, cramps, blood clots o

(B) Difficulty in breathing, fever, chills, cough, headache

(C) High fever, weakness, stomach pain, loss of appetite
asal congestion and discharge, cough, sore throat, headache

- _d'#

The variety of Okra, Pusa Sawani is resistant to which of the following insect pests 7
Shoot & Fruit bﬂr:il;i (B) Aphids
(C) Cereal leaf beetle (D) Jassids

=

= With respect to Inbreeding, which among the following is not true ? |
(A) It helps in elimination of less desirable genes.
Inbreeding decreases homozygosity,
(C) It helps to eyolve a pure line in an animal.
(D) It helps in accumulation of superior genes.

‘ /"/I&Bﬂﬁf}" from the following a pair of better vielding semi dwarf varieties of rice developed in

ISR U]

India.
- (A) Jaya and Kalyan Sona /(—B)/J;}ra and Rama
(C) Kalyan Sona and Sonalika (D) Sonalika and Ratna

24 In MoET technique fertilized eggs are transferred into surrogate mother in which of the
following stage ?
J(A) 8-32 celled stage (B) 2-4 celled stage  (C) 16-32 celled stage (D) 8-16 celled stage

Roguefort cheese is ripened by l{/
Virusel (B) Bacterium (C) Yeast pl ) Fungi

nts were assigned a science project to find out the pollution levels of lakes in theis
Yer analysing the quality of water samples, the BOD values were found as

the following water samples is highly polluted ? :
. (B 06mgl (C) 0.16 mg/L Mﬂfﬁ mgL

mozoin’ responsible for high fever and chill, is r:ieasudmm,gf

(B) Denguc (C) Typhoid g’J{ eumor
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40, Mutwh

[ 7 sl
| | ‘]'
{/ Ldutel

i (ol e P
9 lrypuin i
1, {naulin r
4, Antibody &
(AY 18, 21, 3.9, 4P
7(B) 1-q, 21, 3-q, 48
(C) 1-8,2-p, 3-r,4-p
(D) 1-s,2-q, 3-1,4-p

{Ax Bivalent

Column-I
1. Hypertome,_ p.
2. Capillarity “g.
3. Sympont r.

4. Guttation s,
(A) 1-q,2-p, 35, 41
(B) 1-q,2-5,31,4p
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with respect tapﬂ#"“ - !h‘

1 dst-11
Fights infectious agents
Hormone

Enzyme
Intercellular ground substance

50. The complex formed by a pair of synapsed homologous chromosomes s called,

(B) Pentavalent (C) Univalent (D) Traad

§1. Match column-I with column-I1. Select the option with correct combmation.

Columa-I1

Two molecules move in the same direction across e membrame
External sofution is more concentrated than cell sap.
Water loss in the form of droplets.

Ability of water 1o rise in thin tubes.

amera
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